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Ditto 4.1
1) $1.16 Million

2) a) C(t) = 150(1.08)"
b) $277.64

3) 9.1%
4) 20 days

5) a) 23 years
b) 22 1/4 years
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Exponential Equations PreCalc
Unit 4 Day 7
An exponential equation is an equation in which the variable is in the exponent.
When bases are not the same, follow these steps:
Steps: Example:
1. Express each side of the equation 273= 64
in terms of the same base. 2 3= 3 [
2. Set the exponents equal.
x-3z 6
3. Solve.
\
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Solve.
1 43z g4l 2. ?‘_173X=25x
Mx-3=x+ [ s".": Szx
X=4 1-3x=
W3 g st 1= S¥
l' qf;::!-, 5T x:"s'
3. 9x=g7x! 4. 81%*3:=9
3’15 s 3‘“‘—4\ q!(i""):q ’
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A= Graccd
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)
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If you can't get a common base...
Steps: 9% = 43

1. Isolate the exponential term

\ X =) 43
2. Take the log of bufhsid 03 q p %qs

3. Use the power rule. x"l%s%- -Io-zsfq

4. Isolatethevariable.

5. Use caleulator!
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Solve. Round all answers to the nearest thousandth.

1. B>=15 2 sl

log 5% =leg IS 1‘ ;;"
2xlogS=hy 15 _ ¢ |
B ko
3. 6:=e' 4 )

it T Ty

=N

= W
;”4:3€1~(j
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B, =7 6. -4e¥3+1=z-59

'09‘”(___109? 2-K

(W
Xlog 4o & =g} log 3
+1W?x\he K

Klog Lt xle9 +_l?q% =a|oe,1_;,,¢
by \og(,-«-xlog? =g} -9 6

X% +log?) = Al 3 -log &
% (logla-l-log}s
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